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1. What is the expected # of heads after n coin tosses?
Probability of heads is p.
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2. n customers leave their hats at coat check. Customers later

receive hats back but randomly uniformly permuted. What is

the expected number of customers that are lucky enough to

get their own hat back? \
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the expected number of customers that are lucky enough to
get their own hat back?
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What is:che expected final value of x after the program runs?
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4. Toss a ball into one of n bins randomly and repeat. What is
the expected # of times until all bins are non-empty?

L DQ(omwo)q the rondon, Vv inble
i\ - ¢ \ - + '
o Foel Wikl Qery Din 15 koa-empTy
inh o jum gl Hog Casiel rondom \/W{aﬂow l



\K‘-\}L ol e Iy E)o £@M[ non~eanp¥k/ 30(/\5
hoq ijVﬂ L\(\S - ><
= X o pneic rpdot wmww\w?
NQ NS couﬂ%ﬂg o) daly H/\)C(ij
R ST 295
ety Br (X =6) = Fr i) Pr Ueee 3
Led g0 = Fr (Saccesy ) foc M
£ X~ Qeongte LLV \ E[X 1

bt 35 B
“D\L o § \(\% Nme_m(%\/ biq wﬁmk(

U 1 1[ JOS) tak Q/\Aper] bin Succey

T of QMH»/ ) N Q‘/[)

I L
# o bl by 4

—
M

> EEX\J N-1+ \
> E[Ylt E[Yﬁr,,ﬁXn]
- Zg EEX;X



)
{ \ o
i A
= N (\/\ n-\ |
L
T\.HA V@(Jﬁ(/\\ S UM @'L hovmonlc  Serieg

& \
=N T
X\

= My




